Write the correct form of the verb 2 dive in the space.

Simple Present Simple Past
Lst person singular I . I
Lst person plural We . We
2nd person singular You . You
2nd person plural You . You
3rd person singular He . She
3rd person plural They . They

Present Participle Past Perfect

(Continuous)
Lst person singular [ am . Thad
Lst person plural We are . We had
2nd person singular You are . You had
2nd person plural You are . You had
3rd person singular He is . She had

3rd person plural They are . They had




Write the correct form of the verb 2 dive in the space.

Simple Present

Lst person singular I dive
Ist person plural We dive
2nd person singular You dive
2nd person plural You dive
3rd person singular He dives
3rd person plural They dive
Present Participle
(Continuous)
Ist person singular [am diving
Ist person plural We are diving
2nd person singular You are diving
2nd person plural You are diving
3rd person singular He is diving

3rd person plural They are diving

You

You

She

I had

. We had

. You had

. You had

. She had

. 'They had

Simple Past

dived/dove

dived/dove

dived/dove

dived/dove

dived/dove

dived/dove

Past Perfect

dived

dived

dived

dived

dived

dived




